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ACCOUNTING EQUATION
LECTURE - 3
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Questions Prepare the Accounting Equation on the basis of the following:
1. | Harish commenced business with cash %1,50,000
2. | Furniture purchased for cash. 320,000
3. | Purchased goods fron credit. 325,000
4. | Sold Goods (Costing ¥10,000) to Mohan for cash. 14,000
5. | Additional capital introduced. 320,000 |— > Co\ P 1 {o& + CQS‘“ +
6. | Commission received in advance. 32,000 |_ s J\ia‘o 4 [_& St
7. | Paid to creditor (Mahesh) in full settlement. 22500 ) — (g, 3\, i O*) (_( ) ( J&Q\
8. | Sold goods (Costing 15,000 forZ18,00Q out of _ | ~ QAL 00 - P
=0 — 1 — 25000 +2S00
which 5,000 received in cash. M
- . . Coash 4+ Qe s
9. | Depreciation on furniture provided @10%. Loy S, :
i + 5020 | Roso 3 )Saﬁ CQF‘{G'Q
o ’300 o
¢ ? Tuvrine ’f_
— 200606

RS
Gt
Lo



BATCH

Solution:
S. [ Transactions Assets (3) = Uabilities®  +Caphal)
No. Cash + Fumiture + Stock + Debtors = Creditors + CommRecd + Capital
in Advance

1. | Harish Commenced

business with cash | 1,50,000 0 0 + 0 = 0 + 0 + 150,000
2. | Furniture purchased

for cash ~20,000 20,000 0 + 0 = 0 + 0 + 0

New Equation 1,30,000 20,000 0 + 0 = 0 + 0 + 150000
3. | Purchased goods from

Mahesh 0 0 25000 + 0 = 25000 + 0 + 0

New Equation 1,30,000 20,000 25000 + 0 = 25000 + 0 + 150000
4. | Cash Sales

(Profit T 14,000-T10,000) | 14,000 0 10,000 + 0 = 0 + 0 + 4,000

New Equation 144,000 20000 + 15000 + 0 = 25000 + 0 + 154000
5. | Additional capital

introduced 20,000 0 0 + 0 = 0 + 0 + 20000

New Equation 164,000 20,000 15000 + 0 = 25000 + 0 + 17400
6. | Commission received ,

in advance 2,000 0 0 + 0 = 0 + 2000 + 0

New Equation 1,66,000 20000 + 15000 + 0 25000 + 2000 + 174000
7. | Paid to creditor Mahesh

222,500 in full settlement | -22,500 0 0 + 0 = -25000 + 0 + 250

New Equation 143,500 20000 + 15000 + 0 = 0 + 2000 + 176500
8. | Sold goods (costing

T 15,000) for T 18,000

out which ¥ 5,000

received in cash 5,000 0 - 15000 + 13000 = 0 + 0 + 3000

New Equation 148,500 20,000 0 + 13000 = 0 + 2000 + 179500
9, | Depreciation on furniture

@ 10% on ¥ 20,000 0 - 2000 0 + 0 = 0 + 0 - 2,000

New Equation 148500 + 18,000 0 + 13000 = 0 + 2000 + 17250
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Questions Transactions of M/s Vipin Traders are given below: Show the effects on Assets, Liabilities and Capital with
the help of accounting equation.

(a) Business started with cash 31,25,000
(b) Purchased goods for cash 350,000
,«(c/)Purchased furniture from R.K. Furniture 210,000
(d) Sold goods t@(Costing 37,000 vide bittne=5:874T 79,000
Sol.
S. NO. TRANSACTION /ASJSETS - LIABILITY + CAPITAL
Cash + Shck +Tuetvie 4 Debbor Credsdsr (F)
. TRu¢ine ss Qoxk) 128000 ) +12S 000
ES r\)\n’c hasen —Eooou + Sov00
Nsuy ¢8uprTioN 75000 4+ oo 6 F\2S 000
3. [ Fuvniture Puvthone F 100006 40000
Tw  Couakon T)6ovo + S000e } |pboo +1woo0o +|2Soop
4 ("L&ﬂt Sale =~ Joeo + 9000 4 2Zowoo
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(e) Paid cartage 3100 W —
(f) Cash Paid to R.K. Furniture in full settlement ¥9,700 /’7 (8
(g) Cash sales (costing ¥10,000) 312,000 ° el —
1 |
(h) Rent received 34,000 @ (o % I cay
(i) Cash withdrew forg@ersonal use> 23,000 —
— +
S. NO. TRANSACTION __ ASSETS LIABILITY CAPITAL
(ash+ Stock +Fuvnituret D ey Creditor ( T )
New W 75000+ 43000+ 10000 + Q000 + lbooo 4+ 27000
Y CQY+0‘1( -~ oo — oo
MNew - 74600 + 43000 + 10000 + G000 —4-10 00D 4+ l249a00
6 (6sh Perd n Foll sedl - [~ Gro0 —\1boo0 + oo
New EC‘. 6‘37_00‘\"1'3000-4—10000_,_ quo O O 1 1277 00
7. Censh sales I |2000 _ 10000 A 7600
Ne v ZC\ 74200 )\ 330006+ (bpon+d ANog o + 129260
g (\)\U\k ’RCCQ\V"\() + Z\ODO + Lboo
ARG o EEPT
9 AWVRIA \
78 9.6 33002 1 0000 44000 O A 130200
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Questions Show the effect of the following transactions on the Accounting Equation:
(i) Started business with cash 350,000
(ii) Salaries paid 32,000
(iii) Wages outstanding 3200
(iv) Interest due but not paid 2100
Sol. (v) Rent paid in advance 2150
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION Cosl- g ?rrpa; 3 Rend om—%%tﬁo +OU§:'::;§;7
| $tovied Eusirom 55 Low | 5o gud
PR &lmn ?aAJ - 2000 —2.%00
" NE 43000 L o0d
S| Qisdanding Woqen 100 - Q00
NE Y e L4000 4 oo + 47800
4 Dadsdending Ineres -+ 100 - loo
NE 4Rvoo 1200 +loo ¥ 47700
5 | Prepard HPena_ | =150 ISy
| | +4727060

NE 47350 & IS0 — 4200 +lpo
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Questions What will be the effect of the following on the Accounting Equation? é/{g e woY f{
(i) Harish started business with cash 318,000 _ —
(ii) Purchased goods for cash ¥ 5,000 and on credit 32,000
(iii) Sold goods for cash 34,000 (costing ¥2,400)
(iv) Rent paig and rent outstanding 3200
SOI.
ASSETS = LIABILITY + CAPITAL
@8 Ml%
Retr Pasd £ Ovksdendy| —[000 +200 — 200
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Questions Anil had the following transactions: g{

1. Commenced business with cash ¥50,000. /—\\

2. Purchased goods for cash 20,000 and credit ¥30,000.
3. Sold goods for cash 40,000, costing ¥30,000.
4. Rent paid 500, Salaries ¥5,000.

5. Rent outstanding 100, Salaries Outstanding 21,000. O Q
6. Bought furniture for ¥5,000 on credit. / \
4

7. Bought refrigerator for personal use ¥5,000.

8. Purchased computer for cash ¥20,000.

9. Cash withdrawn for personal use ¥10,000.

10. Interest on drawings charged ¥500 and the interest on Capital 31,000.

Use Accounting Equation to show the effect of ;[oé
the above transactions on his assets, liabilities
and capital and also show his Balance Sheet.




BATCH
S, | Transactions Assets 2 Liabilities + Capital =
N<;. Cash + Stock + Fumniture + Computer = Creditors* + Expenses + Capitaf
Outstanding
t 2 4 T T (4 R |
1. | Commenced business B
with cash ¥ 50,000 50,000 + 0 + 0 0 = 0 + 0 + 50000
2. | Purchased goods for
cash ¥ 20,000 and :
credit ¥ 30,000 -20,000 + 50,000 + 0 0 = 30000 + 0 + 0
New Equation 30,000 + 50,000 + 0 0 = 30000 + 0 + 50000
3. | Sold goods for cash
T 40,000 costing
730,000 40,000 - 30,000 + 0 0 = 0 + 0 <+ 10,000
New Equation 70,000 + 20,000 + 0 0 = 30000 + 0 + 60,000
4. | Rent paid -500 + 0 + 0 0 = 0 + 0 - 500
Salaries paid -5,000 . oy - 5,000
New Equation 64,500 + 20,000 + 0 0 = 30000 + 0 + 54500
5. | Rent Outstanding | . - 100 - 100
Salaries Outstanding 0+ 0+ 0 0 = 0 + 1000 - 1,000
New Equation 64,500 + 20,000 + 0 0 = 30000 + 1,100 + 53400
6. | Bought furniture for -
¥ 5,000 on credit 0+ 0 + 5,000 0 = 5000 + 0 + 0
New Equation 64,500 + 20,000 + 5,000 . 0 = 35000 + 1,100 + 53400
7. | Bought refrigerator
for personal use
l?s,o()o ~5000 + 0+ 0 0 = 0 + 0 - 5000
; New Equation 59,500 + 20,000 + 5,000 0 = 35000 + 1,100 + 48400
8. | Purchased computer '
for cash T 20,000 -20,000 + 0 + 0 20000 = 0 + 0 + 0
New Equation 39,500 + 20,000 + 5,000 20000 = 35000 + 1,100 + 48400
9. | Cash withdrawn for
personal use -10,000 + 0 + 0 0 = 0 + 0 - 10000
New Equation 29,500 + 20,000 + 5,000 20,000 35000 + 1,000 + 38,400
10. | Interest on drawings 0 + 0 + 0 0 = 0 + 0 + 500
- 500
Interest on Capital - 1,000
+ 1,000
New Equation 29500 + 20,000 + 5,000 20000 = 35000 + 1,100 + 38400
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Questions Show an Accounting Equation for the following transactions:
1.D. Mahapatra commenced business with cash ¥50,000 and LL
¥1,00,000 by cheque; goods ¥60,000; machinery %1,00,000 ﬁow\e— W o¥
and furniture ¥50,000. /—
2.1/3rd of the above goods sold at a profit of 10% on cost and
half of the payment is received in cash. v J(DWU $>
3.Depreciation on machinery provided @ 10%. @‘\\“6
Sol. /
ASSETS = LIABILITY + CAPITAL

S. NO. TRANSACTION
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1.Cash withdrawn for personal use ¥10,000.
2.Interest on drawings charged @ 5%.
3.Sold goods for Cash 10,000 at par.
ASSETS — LIABILITY + CAPITAL

TRANSACTION
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